ULTIMATE OVERLAND PRODUCTS

FITMENT INSTRUCTIONS

ModCAP Rear Door Kitchen



™

ULTIMATE OVERLAND PRODUCTS

Installation Instructions

Installation and fitment instructions includes the tools required, fasteners
included in the kit, and the hardware included in the kit.

Please follow the instructions and check installation steps with the images in
this document.

Alu-Cab recommends that all sealing work is allowed to cure for 24 hours,
after which you may drive the vehicle on normal paved roads. Before driving
off-road with your Alu-Cab product or operating your roof conversion, an
additional cure period of 48 hours is required.

Failure to follow these instructions will void your warranty. Please ensure that
you follow the sealant manufacturers curing time as per their technical data
sheet.

These times may differ slightly from the times we have recommended.

Service Enquiries email

queries@alu-cab.com

Alu-Cab

s




™

ULTIMATE OVERLAND PRODUCTS

Installation Instructions

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

Tools & Items Required

10mm Ring Spanner/Socket

13mm Ring Spanner/Socket

4mm Allen Key size

Fasteners Supplied

e PART NUMBER DESCRIPTION ary
CC REAR DOOR KITCHEN KIT MOUNTING
1 |mounTinG BRACKETA  [SCREARD 2
CC REAR DOOR KITCHEN KIT MOUNTING
2 [MOUNTING BRACKETB | S REAR DX 2
3 |KITCHENKITBRACKET |06 ReAR DOOR KITCHEN KIT BRACKET SPACER | 4
SPACER
4 |Nv-M8 M8 NYLOC NUT S/S 8
5 |NCAP-M8 NUT CAP-08mm 8
6 |FFw-us M8x20mm OVERSIZED WASHER S/S - DIN 9021 8
7 |HEX-M8x20 M8x20 HEX BOLT S/S 8
8 |BHD-M6x16 M6x16 B/HD BOLT S/S 8
o |FFw-Ms M6x18mm OVERSIZED WASHER S/S - DIN 9021 16
10 |NY-M6 M6 NYLOC NUT S/S 8
11 |NCAP-M6 NUT CAP-06mm 8
12 |RIVALF-M8 M8 LF RIVNUT 8
13 |sw-ms M8 SPRING WASHER S/S 8




™

ULTIMATE OVERLAND PRODUCTS

Installation Instructions

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

Before installation, remove anything that may obstruct the
ModCAP kitchen. Some of these will be reinstalled later ie.
the swivel light.

NOTE FOR DELUXE MODCAP KITCHEN

The deluxe kitchen will come with items boxed inside. Itis
advised to remove all included items, as well as removing
the towel roll from the molle plate before installing the
ModCAP kitchen to your rear door.




Installation Instructions

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

ModCAP Kitchen mounted to rear door
G The following instructions can be used for installation of all

Alu-Cab rear doors.




Installation Instructions

™

ULTIMATE OVERLAND PRODUCTS

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

Mounting onto rear door

The following bracket kit will be used to mount the ModCap Kitchen to
the rear door.

Tem PART NUMBER DESCRIPTION ary
CC REAR DOOR KITCHEN KIT MOUNTING
1 |mMouNTING BRACKETA | S REARD 2
CC REAR DOOR KITCHEN KIT MOUNTING
2 [MOUNTING BRACKETB | SCREARDS 2
3 |KITCHENKITBRACKET | oG REAR DOOR KITGHEN KIT BRACKET SPACER | 4
SPACER
4 |NvM8 M8 NYLOC NUT S/ 8
5 |NCAP-M8 NUT CAP-08mm 8
6 |FFw-M8 M8x20mm OVERSIZED WASHER S/S - DIN 9021 8
7 |HEX-M8x20 M8x20 HEX BOLT S/S 8
8 |BHD-M6x16 M6x16 B/HD BOLT S/S 8
9 |FFw-Me M6x18mm OVERSIZED WASHER S/S - DIN 9021 16
10 |NY-M6 M6 NYLOC NUT S/ 8
1 |NCAP-M6 NUT CAP-06mm 8
12 |RIV-LF-M8 M8 LIF RIVNUT 8
13 |sw-ms M8 SPRING WASHER S/S 8




™

Installation Instructions Alu-Cab

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

Mounting Bracket (Low Positions)

3.1.1 - Attach Mounting bracket A and Mounting bracket B to the ModCAP kitchen with the supplied BHD-M6x16 bolts and FF\W/-M6
washers as shown. Additionally attach the Kitchen Kit Bracket spacers (see NB. note below), and fasten it all down with FF\W/-M6 and NY-M6.

NB. Use the supplied
Kitchen Kit Bracket
Spacer on the inside of
the kitchen kit to ensure
a secure bracket -
include it on both sides.
Fasten the NY-M6 nut
with an FFW-M6 washer
to secure, and insert the
NCAP-MG6 to the nut.

FASTENERS REQUIRED HERE

Mounting bracket A Mounting bracket B
(Left) (Right) FFW/-M6 BHD-M6x16 NY-M6 NCAP-M6

vy oo




™

Installation Instructions Alu-Cab

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

Mounting Brackets (Top Positions)

e 3.2.1 - Please note the following hole positions per alu-cab

rear door.

FS (Full Size) 4———

TLC (Toyota Land
Cruiser)

DC (Double Cab & —
XC {Extra Cab)

Universal Holes




™

Installation Instructions

ULTIMATE OVERLAND PRODUCTS

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

a Mounting Brackets (Top Positions)

3.2.2 - Attach Mounting Bracket B and Mounting bracket A to the ModCAP kitchen to the appropriate hole positioning (see
page 8.) using the supplied BHD-M6x16 bolts and FFW-M6 washers as shown. Additionally attach the Kitchen Kit Bracket
spacers (see NB. note below), and fasten it all down with FF\W-M6 and NY-MB6.

NB. Use the supplied
Kitchen Kit Bracket
Spacer on the inside of
the kitchen kit to ensure
a secure bracket -
include it on both sides.
Fasten the NY-M6 nut
with an FFW-M6 washer
to secure, and insert the
NCAP-MG6 to the nut.

FASTENERS REQUIRED HERE

FFW-M6 BHD-M6x16 NY-M6 NCAP-M6

g b)Y A ) J
Mounting Bracket B (left) Mounting Bracket A (Right) w ; § g
X4 X4 X4

x4




™

ULTIMATE OVERLAND PRODUCTS.

Installation Instructions

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

‘ Mounting onto rear door (For DC, XC, FS & TLC)

4.1 - For both left and right sides, slide x2 M8x20 HEX
BOLTS in the nut slot per bracket.

4.2 - Fit the Modcap Kitchen onto door while ensuring the
bolts are positioned correctly.

/,.
B

'/"/ -
73]

FASTENERS REQUIRED HERE

\/

HEX-M8x20

.

x8

Ve

Tl

[

=
L
L
=)
L
A=)
DN
~

10



™

ULTIMATE OVERLAND PRODUCTS

Installation Instructions

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

‘ Mounting onto rear door (For DC, XC, FS & TLC)

The following to be done on both left and right sides.

4.3 - Fasten down to the rear door with the supplied M8

washers (FFW-M8) and M8 Nyloc nuts (NY-M8)
FASTENERS REQUIRED HERE

4.4 - M8 NCAPs may be attached to all nuts once Mod

Kitchen is secured. FFW-M8
Q -
NY-M8
© -
NCAP-M8
9 -




Installation Instructions

ULTIMATE OVERLAND PRODUCTS

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

Mounting onto rear door

’ Fully mounted to rear door.

@ ¢

12



Installation Instructions

™

ULTIMATE OVERLAND PRODUCTS

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

Mounting onto rear door (without nut slot)

If your rear door does not have a nut slot - such as Alu-Cab's old gen Land
Cruiser rear doors - the ModCAP Kitchen comes supplied with rivnuts in order
to install the ModCAP Kitchen.

Additional Tools Required:
» Power Drill
+ 11mm Drill Bit

* Rivnut Tool Gun

FASTENERS REQUIRED HERE

NCAP-M8

RIV-LF-M8

HEX-M8x20

&

SW-M8

0

x8

x8

13



™

Installation Instructions

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

ULTIMATE OVERLAND PRODUCTS.

Mounting onto rear door (without nut slot)

a Measure appropriately in order to drill the holes at the
correct spacing. Make sure to check which area of

measurement is appropriate for your application.

The following measurements can be used as
a guide. It is advised to double check
measurements to account for \

manufacturing tolerances.
487.5

459.5

14



: : Alu-Cab
Installation Instructions

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

Mounting onto rear door (without nut slot)
e * Once all the appropriate holes are marked, use a
11mm drill bit to drill the holes for the rivnut.

¢ Install the M8 rivnut (RIV-LM-M8) with a rivhut
power tool.

* Install the ModCAP kitchen (Refer to page 10) by
fastening it down with the supplied SW-M8 and
HEX-M8x20 fasteners.

¢ Once fastened down, the bolts can be covered
with the M8 Ncap's (NCAP-M8).




Installation Instructions

™

ULTIMATE OVERLAND PRODUCTS

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

Swivel light re-installation

‘ Re-install the swivel light at the allocated

area on the kitchen kit.

6.1 - \Xiring can be routed as shown in

6.2 - Cable ties can be used to hold wiring in
place as shown in red.

————

5 ""*

b &= —

16



Installation Instructions

™

ULTIMATE OVERLAND PRODUCTS

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

’ Spare Wheel Carrier * Kitchen Kit installation

The following instructions is for installation of the
ModCAP kitchen alongside the Alu-Cab Spare
Wheel Bracket

7.1 - The ModCAP Kitchen has knockouts to
accommodate the Spare Wheel Carrier bracket
and bolts.

Before installation of the ModCAP kitchen,
knock-out the slots as highlighted in the image.

A
‘.
=
]
]
-
-

17



Installation Instructions

ULTIMATE OVERLAND PRODUCTS.

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

Spare Wheel Carrier + Kitchen Kit installation

’ Once the correct door knockouts are out, the space
provided allows the nuts and bolts to fit through

the kitchen back plate.

18



ACee-Calbs

Installation Instructions

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

Spare Wheel Carrier + Kitchen Kit installation

‘ 7.2 - Install the Spare Wheel Carrier as per usual.

Link For Spare Wheel Carrier Installation:

https:.7/www.alu-cab.com/product/spare-whee
l-bracket/




ULTIMATE OVERLAND PRODUCTS

Installation Instructions

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

‘ Spare Wheel Carrier + Kitchen Kit installation

7.3 - Once the Spare Wheel Carrier is installed, the
Kitchen Kit can be installed as per this document.

All mounting brackets on the Kitchen Kit are slotted
in order to allow the kitchen kit to move backwards
and forward. This helps to accommodate the Spare
Wheel Backing plate.




Installation Instructions

ModCAP Rear Door Kitchen Fitment - Tools, Fasteners & Hardware

Spare Wheel Carrier * Kitchen Kit installation

‘ The ModCAP kitchen should now be successfully
installed alongside the Spare Wheel Carrier.

21



™

ULTIMATE OVERLAND PRODUCTS

Disclaimer

All rights reserved. No part of this website may be reproduced, translated, stored in a retrieval system, or transmitted, in any form or by any means, electronic, mechanical, photocopying, recording
or otherwise, without prior written permission of the owner.

Review all instructions information carefully before installation.

Any damages, direct or incidental to the installer and/or property due to incorrect installation of any parts are the responsibility of the installer. Due to the various applications and fitment options
available, the responsibility lies with the user to ensure all mounting points are secure and tight before every trip.

If unsure, consult with your Distributor regarding the operations of our products.

Users are advised to be mindful of the load they are carrying and drive in accordance with road conditions.

WARNING

Always wear appropriate PPE (Personal protection equipment) when fitting our products. Although the mounting kit is designed to be DIY, if you have any doubts or concerns, contact an
accredited fitment centre to carry out the work. Alu-Cab will not be liable for any injury to persons, and/or damage to products and/or vehicles.

While Alu-Cab Holdings takes reasonable measures to ensure that the contents of this Website are accurate and complete, Alu-Cab Holdings makes no representations or warranties, whether
express or implied, as to the quality, timeliness, operation, integrity, availability or functionality of this Website or as to the accuracy, completeness or reliability of any information on this Website.
Alu-Cab Holdings reserves the right to make changes, corrections and/or improvements to the information and to the products and programs described in such information, at any time without
notice.

Alu-Cab Holdings will use reasonable endeavours to maintain the availability of the Website, except during scheduled maintenance periods, and reserves the right to discontinue providing the
Website or the service or any part thereof with or without notice to you. Any person who accesses this Website or relies on this Website or on the information contained in this Website does so at
his or her own risk.

Occasionally, at our discretion, we may include or offer third-party products or services on our website. These third-party sites have separate and independent privacy policies. We therefore have
no responsibility or liability for the content and activities of these linked sites. Nonetheless, we seek to protect the integrity of our site and welcome any feedback about these sites.



